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ANSWER ALL THE QUESTIONS

. Define Similar Matrices.

. Calculate A%2 when A = (_1 3).

-1 4
If a,B,y be the roots of the equation x3+ 2x2+ 5x+ 7 =0, find the values of

a’+ p% +y2.

Remove the fractional coefficient from the equation x3 — ixz + %x —-1=0.

Prove that cosh?x + sinh?x = cosh2x.

If y =1log(4—x?),find y,.

Obtain a partial differential equation by eliminating a, b from a(x? + y?) + bz? = 1.
Solve p = y?q>.

Prove that EV= VE = A.

Evaluate A(tan™'x).

SECTION-B (5 X 8=40)
ANSWER ANY FIVE QUESTIONS
2 -1 1
Prove that the matrix A = (—1 2 —1) satisfies its own characteristic equation and
1 -1 2

hence find its inverse.
Diminish the roots of the equation x* — 4x3 — 7x? + 22x + 24 = 0 by 1 and hence
solve the equation.

Differentiate with respect to x the following functions:
() y = sinh™1 c;—i) (i) y = log (cosech (E))
Evaluate [(x — 3)(7 — x)dx.

Find the complete and singular integral of z = px + qy + /1 + p? + ¢>.
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Using Newton’s interpolation formula, find the value of y = e* when x = 0.38 from the
following table:
x 0 0.1 0.2 0.3 0.4
e* 1 1.1052 1.2214 1.3499 1.4918

The following table gives the normal weight of a baby during the six months of life:

Age in
0 2 3 5 6

months
Weight in Ibs 5 7 8 10 12

Estimate the weight of a baby at the age of 4 months using Lagrange’s formula.

SECTION-C (2 X 20 =40)
ANSWER ANY TWO QUESTIONS

2 2 0
(a) Diagonalise the matrix A = < 2 1 1 )
-7 2 =3
(b) Solve the equation x3 — 12x? + 39x — 28 = 0 whose roots are in arithmetical
progression. (15+5)

(a) Solve 6x° — 35x> + 56x* — 56x2 + 35x — 6 = 0.
(b) (i) Ify = (x + VI+x2) ", prove that (1 + x2) ZTy +x2 _m2y =0,

.. dx
(ii) Evaluate [ N ot (10+5+5)
(a) Solve (i) p? + g2 = x* + y? (i) xp + yq = x.
(b) Find the missing value in the following table:
X 45 50 55 60 65
y 3.0 ? 2.0 ? 2.4
(10+10)
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